IPA, SAMPA and HTK compatible SAMPA codes used for the British English SpeechDat

] IPA \ TIPA \ SAMPA \ HTK \ Word \ IPA \ SAMPA ‘
6 plosives
p \textipa{p} p P pin pin pIn
b \textipa{b} b b bin bin bIn
t \textipa{t} t t tin tm tIn
d \textipa{d} d d din din dIn
k \textipa{k} k k kin kin kIn
g \textipa{g} g g give grv glv
2 phonemic affricates
tf \textipa{\textteshlig} tS tS chin fm tSIn
& | \textipa{\textdyoghlig} dz dz gin &m dZIn
9 fricatives
f \textipa{f} f f fin fin fIn
v \textipa{v} v v vim vim vIm
0 \textipa{T} T T thin Om TIn
0 \textipa{D} D D this o1s DIs
S \textipa{s} s s sin sm sIn
z \textipa{z} z z zing zZ1y zIN
| \textipa{S} S S shin Jm SIn
3 \textipa{Z} Z Z measure | mezo meZeh, meZ@
h \textipa{h} h h hit hrt hIt
7 sonorants
m \textipa{m} m m mock mpk mQk
n \textipa{n} n n knock nok nQk
| \textipa{\ng} N N thing iy TIN
T \textipa{r} r r wrong DY rQN
1 \textipa{l} 1 1 long loy 1QN
w \textipa{w} W W wasp WDSD wQsp
j \textipa{J} J j yacht jot jQt
6 ‘“checked” vowels
1 \textipa{I} I I pit pit pIt
e \textipa{e} e e pet pet pet
&® \textipa{\ae} { ae pat peet paet, p{t
D \textipa{6} Q Q pot pot pQt
A \textipa{2} v v cut kat kVt
U \textipa{U} U U put put pUt
1 central vowel
) \textipa{@} Q eh ‘ another ‘ onade ‘ ehnVDeh, @nVD®@
13 “free” vowels
ir \textipa{i:} i: i: ease iz iz
er \textipa{eI} el el raise reiz relz
ar \textipa{aI} al al rise raiz ralz
o1 \textipa{0I} 0I 0I noise noIz n0Iz
ur \textipa{u:} u: u: lose luiz lu:z
U \textipa{QU} QU ehU nose novz nehUz, n@Uz
av \textipa{aU} au au rouse ravz raUz
31 \textipa{3:} 3: Eh: furs f3iz fEh:z, £3:z
a \textipa{A:} A: A: stars staiz stA:z
o1 \textipa{0:} 0: 0: cause ko:z k0:z
5} \textipa{I@} I Ieh fears froz flehz, fIQz
ed \text ipa{e@} e@ eeh stairs steoz steehz, ste@z
U \textipa{U@} U@ Ueh cures kjvoz | kjUehz, kjU@z
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